Sistema a 2 gdl con forzanti armoniche: moto a regime e diagrammi di risposta in frequenza

o, L)

m, m,
Cl CE
xl xZ

m] = 5
m2 = 8
ky = 1600
k5 = 2300
k3 := 1500
CI = 25
6‘2 = 10
6‘3 = 15
N%\:: 15
FI = 100 ’l,ZJ] = O

2
Fy:=80 hy = §~7T-0:0
Forzanti
£t = F1~sin((2~t + ¢1) £ (8) > 100-sin(15-t)
fr(t) = F2~sin((2~t + ¢2) 15 (t) > 80-sin(15-1)
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Matrice diimpedenza

Z-(K-22M)+iaC- (

X::Z_I.Fz(

x; = |Xy| = 0276

X, = | Xo| = 0.325

x (1) = Xj-sin(ﬂ-t 4+ gol)

x(1) = Xz-sin(ﬂ-t + goz)

t:=0,0.001..2-T

F- (100)
80

0.052 - 0.2711
0.06 — 0.3191

Py = arg(Xl) =-1.382-rad

Py = arg(Xz) =-1.384-rad

—2300 — 1501

2000 + 3751

2775 + 5251 —2300 — 1501)

¢ =-79.156-deg

vy =-79.314-deg
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Z.(02,SMORZ) = (K - Qz-M) + i-2.-C(SMORZ)

X(02,SMORZ) = Z($2,SMORZ) 'F
X142, SMORZ) = | X(2,SMORZ), |
X202, SMORZ) = | X (2, SMORZ),|
£(2, SMORZ) := arg X(£2,SMORZ),)

6202, SMORZ) := arg X(£2,SMORZ),)

Pulsazioni proprie

w = sorl(\’genvalsiK,Mi) = (15.269j

31.966
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